
GAFF® POLYURETHANE COMPONENTS
FOR VOCATIONAL TRUCK APPLICATIONS

Torque Rod Bushing - Chalmers

OEM:  
800010
1515966C1

PART NO. NOTES/INCLUDES

GAFF11739 16 per Truck, Type 2 Joints

Torque Rod Bushing - Chalmers

OEM:  
22128

PART NO. NOTES/INCLUDES

GAFF18919 16 per Truck, Type 0 & 1 Joints

Torque Rod Bushing - Chalmers

OEM:  
22129

PART NO. NOTES/INCLUDES

GAFF18920
16 per Truck, Type 0 & 1 Joints, 

Oversized

Torque Rod Bushing - Chalmers

OEM:  
800009

PART NO. NOTES/INCLUDES

GAFF18921
16 per Truck, Type 2 Joints, 

Oversized

Load Spring - Chalmers

OEM:  
15002

PART NO. NOTES/INCLUDES

GAFF11740 2 per Truck, 40 - 58 K

Bolster Spring - Freightliner®

OEM:  
16-14508-000
16-15010-000

PART NO. NOTES/INCLUDES

GAFF11159 2 per Truck

Insulator Spring Tip - Freightliner®

OEM:  
11-20807-000
11-20806-000

PART NO. NOTES/INCLUDES

GAFF11165 4 per Truck; Upper Insulator

Spring Insulator Cap - Freightliner®

OEM:  
11-19581-000

PART NO. NOTES/INCLUDES

GAFF11164 4 per Truck; Upper Insulator

Bolster Spring Kit - Hendrickson®

OEM:  
60879
641794
49377-000
60879-000

PART NO. NOTES/INCLUDES

GAFF13722
2 per Truck; Includes 2 Bolster Spring -GAFF13601, 1 
Auxiliary Load Spring -GAFF13611, 16 Bolt 7/16" X 1 1/4" 
UNF, 16 Lock Nuts 7/16" UNF, 32 Flat Washer 7/16"



888-725-9355 U.S.
800-387-3889 Canada
MeritorPartsXpress.com
meritor.com

©2021 Meritor, Inc.
Litho in USA,  SP-2173
Revised 05-21 (FLOA)

Meritor Heavy Vehicle Systems, LLC
7975 Dixie Highway
Florence, Kentucky 41042 USA

Bolster Spring Pair - Hendrickson®

OEM:  
60879
49377-000
2506180C91

PART NO. NOTES/INCLUDES

GAFF13721
2 per Truck;  Includes 2 Bolster Spring 

-GAFF13601, 16 Bolt 7/16" X 1 1/4" UNF, 16 
Lock Nuts 7/16" UNF, 32 Flat Washer 7/16"

Bolster Spring Kit - Hendrickson®

OEM:  
64179-002
64179-037

PART NO. NOTES/INCLUDES

GAFF13626
4 per Truck; Includes 2 Bolster Spring, 

Tie Bar Spring Spacer, Bolt 5/8"-
13UNC X 10" G8, Locknut 5/8" UNC

Progressive Spring Kit - Hendrickson®

OEM:  
64179-004
60961-747
60961-741
67778-000

PART NO. NOTES/INCLUDES

GAFF13814
1 per Truck; Includes 2 Progressive 

Springs -GAFF13812, 6 Bolts  1/2" 13 
UNC X 2-1/4", 6 locknuts 1/2" 13 UNC

Beam End Bushing - Hendrickson®

OEM:  
34013-188

PART NO. NOTES/INCLUDES

GAFF83596
Shim type, Easy Mount Free Rotating 

Bushing, Includes Hardware

Beam End Bushing - Hendrickson®

OEM:  
34013-088

PART NO. NOTES/INCLUDES

GAFF13596
Shim type,  

Includes Mounting Hardware

Beam End Bushing - Hendrickson®

OEM:  
34013-087

PART NO. NOTES/INCLUDES

GAFF13607
Non shim Type,  

Includes Mounting Hardware

Load Pad - Mack®

OEM:  
10QK365A
25121508

PART NO. NOTES/INCLUDES

GAFF12006 4 per Truck

Load Pad - Mack®

OEM:  
10QK370
25115012

PART NO. NOTES/INCLUDES

GAFF12010 4 per Truck

Load Pad - Mack®

OEM:  
10QK36C
10QK36B
25125064
21036254

PART NO. NOTES/INCLUDES

GAFF12014 4 per Truck

Load Pad Kit - Mack®

OEM:  
10QK370
25115012
10QK36B
21036254

PART NO. NOTES/INCLUDES

GAFF12036
4 Load Pad -12010, 4 Load Pad -12014, 4 
Bolt 7/8" X 4" UNC, 12 Bolt 7/8" X 6 " UNF, 
12 Lock Nut 7/8" UNF, 16 Flat Washers 7/8"

Load Pad Kit - Mack®

OEM:  
10QK365A
25121508
10QK36B
21036254

PART NO. NOTES/INCLUDES

GAFF12039
4 Load Pad -12006, 4 Load Pad -12014, 
4 Bolt 7/8" X 4" UNC, 12 Bolt 7/8" X 5" UNF, 
12 Lock Nut 7/8" UNF, 16 Flat Washers 7/8"

Pivot Bushing Kit - Watson & Chalin®

OEM:  
R-008839
SRK1190-3
016-018-011

PART NO. NOTES/INCLUDES

GAFF50073
16 Bushing -34514, 8 Sleeve,  
8 Collar, 16 Washers, 8 Locknut 
3/4"-10, 8 Bolt 3/4"-10UNC-X 5"

For best durability and performance, GAFF Polyurethane should not be mixed with other manufacturers’ polyurethane or rubber products when replacing components.

Vehicle models, trademarks, brands, and names depicted herein are the property of their respective owners, and may not be associated with Meritor, Inc. or its affiliates.


